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Use Thévenin's theorem to determine. Thévenin's theorem is named after Léon Charles Thévenin. It states that: \[\text{Any
single port linear network can be reduced to a simple voltage source, } E_{th}, \text{ in series with an internal impedance }
Z_{th}. In the solution shown, we find the open circuit voltage and the short circuit current, and from that we calculate the
Thevenin resistance E Analysis of Circuits () Thevenin and Norton-/Thévenin Theorem: Any two-terminal network
consisting of resistors, fixed voltage/current sources and linear dependent sources is externally equivalent to a circuit
consisting of a resistor in series with a fixed voltage source Thévenin's Theorem. R N = R Th. To find the Norton current | N,
we determine the short-circuit current flowing from terminal a to b Pick a good breaking point in the circuit (cannot split a
dependent source and its control variable). onumber \] It is important to note that a Thévenin equivalent is valid only at a
particular frequency Steps to determine Norton's equivalent Resistance (R N) and Current (I N): Calculate R N in the same
way as R Th. Using source transformation, the Thevenin and Norton resistances are equal i.e. Thevenin: Compute the open
circuit voltage, ProblemFind the Thevenin'sequivalent circuit for the following circuit. Solution Thevenin/Norton Analysis.
Thevenin'sand Norton's TheoremsProblems -In class This problem is done in the Worked Problems: Thevenin and Norton
Equivalents as Problem In this problem we have both dependent and independent sources. Equivalent Circuit. Thevenin
theorem is used to change a complicated circuit into a simple equivalent circuit A Source of Free Solved Problems. This
problem is done in the Worked Problems: Thevenin and Norton Equivalents as Problem In this problem we have both
dependent and independent sources. Overview. Thévenin's TheoremCircuit with Two Independent Sources. In the Worked
ExampleFrom the circuit shown below determine the current through theresistor using (a) Thévenin’ s theorem, and (b)
Norton’s theorem Thevenin's Theorem and Norton's Theorem.
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